
12-27-2024

Focus CR Rotary Frame 

Rotary Frame Assemblies and Growth Struts based on Frame Width Range
 

Item Number Part Number Description Quantity

1a 505488 Rotary Frame Right, Focus 1

Replacement for 001000INST

1b 505301 Rotary Frame with Transit Right 1

Contains Rotary Frame with Transit Bracket and Retrofit
Instructions (Transit not shown in image). If wanting to
retrofit the Transit option, please see the Focus CR Transit
page.

2a 505489 Rotary Frame Left, Focus 1

Replacement for 001001INST

2b 505302 Rotary Frame with Transit Left 1

Contains Rotary Frame with Transit Bracket and Retrofit
Instructions (Transit not shown in image). If wanting to
retrofit the Transit option, please see the Focus CR Transit
page.

1a, 2a, 3, 4a, 5
- 9 501069 Rotary Frame Assembly Small Focus 1

1a, 2a, 3, 4b, 5
- 9 501070 Rotary Frame Assembly Medium Focus 1

1a, 2a, 3, 4c, 5
- 9 501071 Rotary Frame Assembly Large Focus 1

1a, 2a, 3, 4d, 5
- 9 114274 Rotary Frame Assembly X-Large Focus 1



12-27-2024

Item Number Part Number Description Quantity
1b, 2b, 3, 4a, 5
- 9 505303 Rotary Frame with Transit Assembly Small Focus 1

If wanting to retrofit the Transit option, please see the
Focus CR Transit page to add the Backrest Hardware Kit

1b, 2b, 3, 4b, 5
- 9 505304 Rotary Frame with Transit Assembly Medium

Focus 1

If wanting to retrofit the Transit option, please see the
Focus CR Transit page to add the Backrest Hardware Kit

1b, 2b, 3, 4c, 5
- 9 505305 Rotary Frame with Transit Assembly Large Focus 1

If wanting to retrofit the Transit option, please see the
Focus CR Transit page to add the Backrest Hardware Kit

1b, 2b, 3, 4d, 5
- 9 114275 Rotary Frame with Transit Assembly X-Large

Focus 1

If wanting to retrofit the Transit option, please see the
Focus CR Transit page to add the Backrest Hardware Kit

3 001029 Strut End Rotary Frame TILT 4

4a 001030 Growth Strut Rotary Short TILT 2

4b 001031 Growth Strut Rotary Medium TILT 2

4c 001032 Growth Strut Rotary Long TILT 2

4d 112004 Growth Strut Rotary X-Long TILT 2

5 101850 M8 x 20 SHCS Blk Zn 4

6 101821 M5 x 25 HHCS Blk Zn 4

7 100657 M5 Nylock Nut Blk Zn 4

8 101856 Flat Washer, M5, Blk Zn 4

9 101834 M8 Hi-Collar Lockwasher Blk Zn 4


